HHE A PBEE ROy BEE R (MM AL L)
(AT AN %)
¥ Al HERT& I B 5 18 g ==
R H KE H @5 fii A e B4R H $8E 15929 R LS

HOE OE ¥ G 413528 0.6 3.7 100.0 2.11 1.37
T % E5 31,137 41 1.0 75 5.05 0.99
01 e % 87,951 A02 6.7 213 0.87 1.08
E X aOA .
AT 1,878 0.1 11 05 0.43 0.32
% OHOoEm E % 12,461 A02 AAT 3.0 0.37 0.62
b L] E'S 25,100 A02 7.0 6.1 1.25 1.40
A N Tl 90,867 1.0 3.7 22.0 3.04 2.10
& Who- R R % 14,303 0.4 36 35 1.27 0.81
rO#® E % 2,134 A237 138 05 1.47 0.28
®E L, [ ¥ 31,408 1.0 6.4 7.6 4.03 3.00
Eow & Ak 42,513 0.3 0.3 10.3 112 0.87
HE, FEBE 24,711 0.3 1.0 6.0 0.66 0.30
BEE—vrHEHE 6,777 10.0 11.6 16 10.49 0.47
P+ — v = % 42,246 0.1 32 10.2 1.28 1.22
() 1 WEELOPICIEL S D,

2 AW =

AEOWHE S + WHEMHEE X 100




(R s ALLL)

s =3
ERRIE AR
R 74 =100
mEEE | RER max  (CROLRNE pmmEe | EwE | BR0ER | SRRRE | TBER | weE @ex | EREL | Ggps  |#EY-tAER| v-£xx

FRITEFY 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0 100.0
FRIBETLY 1013 988 1038 1002 95.9 1037 1018 96.4 1120 1005 1005 1018 986 1011
FH18E9H 1026 1015 106.1 99.4 95.4 1026 1026 97.2 1156 1026 1025 1020 98.9 1017
10R 102.9 100.7 106.1 100.3 95.6 103.1 103.7 96.7 1211 104.6 101.4 102.9 99.4 102.2

1A 1033 1004 1067 100.1 96.0 1090 1065 96.9 1236 1046 1011 1030 989 1019

128 102.4 97.7 106.5 100.4 943 109.3 102.6 97.4 1184 103.4 98.5 92.8 98.9 102.1
FHI9E1 A 1025 95.0 1072 1011 945 1004 1032 97.9 1542 101.7 986 1024 988 1011
2R 103.1 98.9 107.0 101.2 94.3 109.2 104.2 98.3 117.7 102.7 98.9 102.7 108.7 101.2

IR E (%) 06 41 A02 0.1 A02 A 02 10 04 A 237 1.0 03 03 100 0.1
A2 LA H (%) 37 10 67 11 A47 10 37 36 138 64 03 10 116 3.2

GE) FRGDBR



